
© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 1

www.studio-tech.comPrice List for Replacement Parts

Table of Contents

Model 2 Central Controller (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   3

Model 2A Central Controller (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   3

Model 22 Access Station (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   3

Model 24 Access Station (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   3

Model 32 Talent Amplifier (S/N 00001 – 00299) .   .   .   .   .   .   .   .   .   .   .   4

Model 32 Talent Amplifier (S/N 00300 and later)   .   .   .   .   .   .   .   .   .   .   4

Model 32A Talent Amplifier (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   4

Model 33 Talent Amplifier (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   5

Model 33A Talent Amplifier (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   5

Model 34 Talent Amplifiers (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   5

Model 35 Talent Amplifier (S/N 00001 – 00385) .   .   .   .   .   .   .   .   .   .   .   6

Model 35 Talent Amplifier (S/N 00386 and later)   .   .   .   .   .   .   .   .   .   .   6

Model 36 Talent Interface (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6

Model 37 Intercom Beltpack (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   7

Model 41 Interface (S/N 00151 – 01050) .   .   .   .   .   .   .   .   .   .   .   .   .   .   7

Model 41 Interface (S/N 01051 and later)    .   .   .   .   .   .   .   .   .   .   .   .   .   7

Model 42A Interface (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   7

Model 43D IFB Interface (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   8

Model 44D Audio Interface (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   8

Model 45 Interface (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   8

Model 45A Interface (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   8

Model 45DC Intercom Interface (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   8

Model 45DR Intercom Interface (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   8

Model 46 Interface (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   9

Model 46A Interface (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   9

Model 47 Interface (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   9

Model 47A Interface (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   9

Model 48D Dante Bridge (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   9

Model 72 Level Meter / Interface (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   .   9

Model 51 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 10

Model 56 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 10

Models 59 & 591 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   . 10

Model 60 Central Controller (S/N 00200 – 00300)  .   .   .   .   .   .   .   .   .   . 11

Model 60 Central Controller (S/N 00301 and later) .   .   .   .   .   .   .   .   .   . 11

Model 60A Central Controller (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   .   . 11

All prices effective March 1, 2018. Subject to change without notice.

Parts availability subject to factory stock levels. Certain parts may become obsolete  
without notice.



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 2

Table of Contents, continued

Model 61 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 12

Model 69 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 12

Model 69A Control Console (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 12

Model 71 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 12

Model 74 Central Controller (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 12

Model 75 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 13

Model 77 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 13

Model 77B Control Console (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 13

Model 79 Control Console (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 13

Model 790 Control Console (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 13

Model 92 DT12 Cable Assembly Test Unit (all S/N)   .   .   .   .   .   .   .   .   . 14

Model 93 W1 Cable Assembly Test Unit (all S/N)   .   .   .   .   .   .   .   .   .   . 14

Model 200-Series Announcer’s and Producer’s Consoles (all S/N) .   .   .   . 15

Models 205 & 206 Announcer’s Consoles (all S/N) .   .   .   .   .   .   .   .   .   . 15

Model 208 Announcer’s Console (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   . 16

Model 362 Listen-Only Beltpack (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   . 16

Model 370 Intercom Beltpack (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   . 17

Model 370A Intercom Beltpack (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   . 17

Model 371 Intercom Beltpack (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   . 18

Model 371A Intercom Beltpack (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   . 18

Model 374 Intercom Beltpack (all S/N)    .   .   .   .   .   .   .   .   .   .   .   .   .   . 19

Model 374A Intercom Beltpack (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   . 19

Model 380 On-Air Beltpack (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 20

Model 391 Dante Alerting Unit (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   . 20

Model 400 SDI-Over-Fiber Transport Systems (all S/N) .   .   .   .   .   .   .   . 21

Model 410 SDI-Over-Fiber Transport Systems (all S/N) .   .   .   .   .   .   .   . 21

Model 412 Fiber Transport Systems (all S/N)  .   .   .   .   .   .   .   .   .   .   .   . 21

Model 742 Audio Mixer (all S/N) .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 22

Model 742A Audio Mixer (all S/N)  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   . 22

Model 5100-Series Broadcast Support Modules (all S/N)   .   .   .   .   .   .   . 22

Model 5202 Dante to Phones and Line Output Interface (all S/N) .   .   .   . 23

Model 5204 Dual Line Input to Dante Interface (all S/N)   .   .   .   .   .   .   . 23

Model 5330 Flex-Use Dante Audio Interface (all S/N)    .   .   .   .   .   .   .   . 23

Model 5401 Dante Master Clock (all S/N)   .   .   .   .   .   .   .   .   .   .   .   .   . 23

Model 5414 Mic/Line Input & Line Output Interface (all S/N)   .   .   .   .   . 24

Model 5415 / MD-4 Mic/Line Input & Line Output Interface (all S/N)   .   . 24

Model 5422-Series Dante Audio Intercom Engines (all S/N)  .   .   .   .   .   . 24

Live-Link Remote Camera Interface Systems (all S/N)    .   .   .   .   .   .   .   . 25

Live-Link Jr. Remote Camera Interface Systems (all S/N)   .   .   .   .   .   .   . 25

Live-Link Mini Remote Camera Interface Systems (all S/N)   .   .   .   .   .   . 25



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 3

Model 2 Central Controller (all Serial Numbers)

Knob – Program and Monitor Output (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Program and Monitor Output (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Pushbutton Cap (gray) (Order Code: 12050; Mfg No.: E-Switch TACGRY;  ______ $  4.00 ___________ 
Digi-Key No.: EG1082-ND) ______ $  1.00 ___________

Potentiometer – Program and Monitor Output (Order Code: 2126) ______ $  4.00 ___________

Pushbutton Switch – IFB (momentary) (Order Code: 12064) ______ $  4.00 ___________

Pushbutton Switch Assembly – Program Select (6-position, interlock) (Order Code: 12036) ______ $12.00 ___________

Toggle Switch – Telco 2 Send/Rcv and Monitor Source Select (Order Code: 12051) ______ $22.00 ___________

Toggle Switch – VOX IFB Input Select (Order Code: 12054) ______ $26.00 ___________

Toggle Switch – VOX IFB Output Select (Order Code: 12052) ______ $22.00 ___________

Toggle Switch – Telco Manual Off-Hook/Hang-Up (momentary) (Order Code: 12053) ______ $22.00 ___________

Pushbutton Switch – Telco Std/Wet (push-push) (Order Code: 12016) ______ $  3.00 ___________

Model 2A Central Controller (all Serial Numbers)

Knob – Program and Monitor Output (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Program and Monitor Output (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Pushbutton Cap (gray) (Order Code: 12050; Mfg No.: E-Switch TACGRY;  ______ $  4.00 ___________ 
Digi-Key No.: EG1082-ND) ______ $  1.00 ___________

Potentiometer – Program and Monitor Output (Order Code: 2126) ______ $  4.00 ___________

Pushbutton Switch – IFB (momentary) (Order Code: 12064) ______ $  4.00 ___________

Pushbutton Switch Assembly – Program Select (6-position, interlock) Order Code: 12036) ______ $12.00 ___________

Toggle Switch – VOX IFB, Telco 2 Send/Rcv, and Monitor Source Select (Order Code: 12091) ______ $  9.00 ___________

Toggle Switch – Telco Manual Off-Hook/Hang Up Select (momentary) (Order Code: 12093) ______ $  9.00 ___________

Pushbutton Switch – Telco Std/Wet (push-push) (Order Code: 12016) ______ $  3.00 ___________

Model 22 Access Station (all Serial Numbers)

Button Cap, Lenses, and Label 15154 Kit (Order Code: 31069)  ______ $40.00 ___________

Backlight Lamp (T1, 18 V) (Order Code: 12030) ______ $  4.00 ___________

Model 24 Access Station (all Serial Numbers)

Button Cap, Lenses, and Label 15154 Kit (Order Code: 31069)  ______ $40.00 ___________

Backlight Lamp (T1, 18 V) (Order Code: 12030) ______ $  4.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 4

Model 32 Talent Amplifier (Serial Numbers 00001 – 00299)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2148) ______ $  4.00 ___________

Toggle Switch – Ch 1/2 Select (Order Code: 12021) ______ $  6.00 ___________

3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

1/4" Phone Jack (Order Code: 1053) ______ $  7.00 ___________

Model 32 Talent Amplifier (Serial Numbers 00300 and later)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2148) ______ $  4.00 ___________

Toggle Switch – Ch 1/2 Select (Order Code: 12021) ______ $  6.00 ___________

3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

1/4" Phone Jack (Order Code: 1086) ______ $  4.00 ___________

Model 32A Talent Amplifier (all Serial Numbers)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2148) ______ $  4.00 ___________

Toggle Switch – Ch 1/2 Select (Order Code: 12021) ______ $  6.00 ___________

3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 5

Model 33 Talent Amplifier (all Serial Numbers)

Knob – Ch 1 and Ch 2 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Ch 1 and Ch 2 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Ch 1 and Ch 2 (Order Code: 2148) ______ $  4.00 ___________

Toggle Switch – Ch 1/2 Select (Order Code: 12063) ______ $  9.00 ___________

3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Model 33A Talent Amplifier (all Serial Numbers)

Knob – Ch 1 and Ch 2 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Ch 1 and Ch 2 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Ch 1 and Ch 2 (Order Code: 2148) ______ $  4.00 ___________

Toggle Switch – Ch 1/2 Select (Order Code: 12063) ______ $  9.00 ___________

3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

Model 34 Talent Amplifier (all Serial Numbers)

Knob – Ch 1/Left and Ch 2/Right (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Ch 1/Left and Ch 2/Right (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Ch 1/Left and Ch 2/Right (Order Code: 2148) ______ $  4.00 ___________

Toggle Switch – Output Mic/Stereo Select (Order Code: 12021) ______ $  6.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 6

Model 35 Talent Amplifier (Serial Numbers 00001 – 00385)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2124) ______ $  5.00 ___________

Pushbutton Switch – Stereo/Mono (push-push) (Order Code: 12016) ______ $  3.00 ___________

Pushbutton Cap (gray) (Order Code: 12015) ______ $  3.00 ___________

3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

Dual 1/4" Phone Jack (Order Code: 1087) ______ $  6.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 35 Talent Amplifier (Serial Numbers 00386 and later)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2124) ______ $  5.00 ___________

Pushbutton Switch – Stereo/Mono (push-push) (Order Code: 12016) ______ $  3.00 ___________

Pushbutton Cap (gray) (Order Code: 12015) ______ $  3.00 ___________

3-Pin Male XLR Connector (Order Code: 1093) ______ $  7.00 ___________

3-Pin Female XLR Connector (Order Code: 1094) ______ $  8.00 ___________

Dual 1/4" Phone Jack (Order Code: 1113) ______ $  7.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 36 Talent Interface (all Serial Numbers)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer –(Order Code: 2148) ______ $  4.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

5-Pin Headset Connector Assembly (Order Code: 13579)  ______ $56.00 ___________

6-Pin Headset Connector Assembly (Order Code: 13595)  ______ $56.00 ___________

7-Pin Headset Connector Assembly (Order Code: 13561) ______ $56.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 7

Model 37 Intercom Beltpack (all Serial Numbers)

Knob – Main and Aux (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Main and Aux (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Main and Aux (Order Code: 2148) ______ $  4.00 ___________

Toggle Switch – Mic On Select (on/off/mom) (Order Code: 12088) ______ $  6.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02) ______ $72.00 ___________

Power Entry & Aux Audio Input Kit (Order Code: M37-MK-01) ______ $84.00 ___________

Model 41 Interface (Serial Numbers 00151 – 01050)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black, w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2166) ______ $  4.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Pushbutton Cap (gray) (Order Code: 14229) ______ $  1.50 ___________

Model 41 Interface (Serial Numbers 01051 and later)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2166) ______ $  4.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Pushbutton Cap (gray) (Order Code: 14229) ______ $  1.50 ___________

Model 42A Interface (all Serial Numbers)

Knob (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer (Order Code: 2166) ______ $  4.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Pushbutton Cap (gray) (Order Code: 14229) ______ $  1.50 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 8

Model 43D IFB Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02) ______ $72.00 ___________

Model 44D Audio Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02) ______ $72.00 ___________

Model 45 Interface (all Serial Numbers)

5-Position DIP Switch (Order Code: 12069) ______ $  6.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

24 Vdc, 0.75 A Power Supply (Order Code: PS-DC-03) ______ $46.00 ___________

Model 45A Interface (all Serial Numbers)

5-Position DIP Switch (Order Code: 12069) ______ $  6.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

24 Vdc, 0.75 A Power Supply (Order Code: PS-DC-03) ______ $46.00 ___________

Model 45DC Intercom Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02)  ______ $72.00 ___________

Model 45DR Intercom Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02) ______ $72.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 9

Model 46 Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Model 46A Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Model 47 Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Model 47A Interface (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Model 48D Dante Bridge (all Serial Numbers)

Contact Factory as Required

Model 72 Level Meter / Interface (all Serial Numbers)

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 10

Model 51 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Studio Level (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Studio Level (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Studio Level (Order Code: 30333-001) ______ $12.00 ___________

Knob – Control Room Level (black, collet, 47 mm) (Order Code: 14205)  ______ $18.00 ___________ 
Note: Knob and knob cap are sold separately. See 14206 for knob cap.

Knob Cap – Control Room Level (black w/white line, 47 mm) (Order Code: 14206)  ______ $  4.00 ___________ 
Note: Knob and knob cap are sold separately. See 14205 for knob.

Potentiometer – Control Room Level (Order Code: 30332-001) ______ $12.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 56 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Control Room Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.

Knob Cap – Control Room Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.

Potentiometer – Control Room Level (Order Code: 2123) ______ $  5.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Models 59 & 591 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Control Room Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.

Knob Cap – Control Room Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.

Potentiometer – Control Room Level (Order Code: 2123) ______ $  5.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 11

Model 60 Central Controller (Serial Numbers 00200 – 00300)

1/4" Phone Jack (Order Code: 1086) ______ $  4.00 ___________

Dual 1/4" Phone Jack (Order Code: 1087) ______ $  6.00 ___________

Knob – Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Phones Level and Dub Level (Order Code: 2128) ______ $  8.00 ___________

Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________

Pushbutton Switch Assembly – Source (4-station) (Order Code: 12061) ______ $16.00 ___________

Pushbutton Cap (gray) (Order Code: 12050; Mfg No.: E-Switch TACGRY;  ______ $  4.00 ___________ 
Digi-Key No.: EG1082-ND) ______ $  1.00 ___________

Model 60 Central Controller (Serial Numbers 00301 – later)

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Dual 1/4" Phone Jack (Order Code: 1113) ______ $  7.00 ___________

Knob – Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Phones Level and Dub Level (Order Code: 2128) ______ $  8.00 ___________

Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________

Pushbutton Switch Assembly – Source (4-station) (Order Code: 12061) ______ $16.00 ___________

Pushbutton Cap (gray) (Order Code: 12050; Mfg No.: E-Switch TACGRY;  ______ $  4.00 ___________ 
Digi-Key No.: EG1082-ND) ______ $  1.00 ___________

Model 60A Central Controller (all Serial Numbers)

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Dual 1/4" Phone Jack (Order Code: 1168) ______ $  7.00 ___________

Knob – Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Phones Level and Dub Level (Order Code: 2128) ______ $  8.00 ___________

Pushbutton Switch (push-push) (Order Code: 12016) ______ $  3.00 ___________

Pushbutton Switch Assembly – Source (4-station) (Order Code: 12061) ______ $16.00 ___________

Pushbutton Switch Assembly – Switcher (3-station) (Order Code: 12074) ______ $12.00 ___________

Pushbutton Cap (gray) (Order Code: 12050; Mfg No.: E-Switch TACGRY;  ______ $  4.00 ___________ 
Digi-Key No.: EG1082-ND) ______ $  1.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 12

Model 61 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14215 for knob cap.

Knob Cap – Level (black w/white line, 29 mm) (Order Code: 14215)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.

Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 69 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.

Knob Cap – Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.

Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 69A Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.

Knob Cap – Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.

Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 71 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.

Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.

Rotary Encoder – Level (Order Code: 12034) ______ $  4.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 74 Central Controller (all Serial Numbers)

3.5 mm Jack (Order Code: 1315) ______ $  4.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 13

Model 75 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 38 mm) (Order Code: 14209)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14210 for knob cap.

Knob Cap – Level (black w/white line, 38 mm) (Order Code: 14210)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.

Potentiometer Assembly – Level (Order Code: 32089) ______ $12.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 77 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.

Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.

Rotary Encoder Assembly – Level (Order Code: 31378) ______ $  9.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 77B Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.

Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.

Rotary Encoder Assembly – Level (Order Code: 31378) ______ $  9.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 79 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $14.00 ___________ 
Note: Knob and knob cap are sold separately. See 14215 for knob cap.

Knob Cap – Level (black w/white line, 29 mm) (Order Code: 14215)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 14209 for knob.

Potentiometer – Level (Order Code: 2123) ______ $  5.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

Model 790 Control Console (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $  4.00 ___________ 
Digi-Key No.: EG1301-ND)

Knob – Level (black, collet, 29 mm) (Order Code: 14214)  ______ $  7.00 ___________ 
Note: Knob and knob cap are sold separately. See 14260 for knob cap.

Knob Cap – Level (black, 29 mm) (Order Code: 14260)  ______ $  2.00 ___________ 
Note: Knob and knob cap are sold separately. See 14214 for knob.

Rotary Encoder Assembly – Level (Order Code: 31378) ______ $  9.00 ___________

Self-Adhesive Rubber Bumpons (black, set of 4) (Order Code: 14028) ______ $  2.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 14

Model 92 DT12 Cable Assembly Test Unit (all Serial Numbers)

Rechargeable Battery, 12 V, 1.3 Ah (Order Code: 10335; Mfg No.: Panasonic LC-R121R3P;  Not available from factory 
Digi-Key No.: P264-ND) 

Model 93 W1 Cable Assembly Test Unit (all Serial Numbers)

Rechargeable Battery, 12 V, 1.3 Ah (Order Code: 10335; Mfg No.: Panasonic LC-R121R3P;  Not available from factory 
Digi-Key No.: P264-ND)

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 15

Model 200-Series Announcer’s and Producer’s Consoles (all Serial Numbers)

Backlight LED for Models 214, 215, and 216 Announcer’s Consoles and Model 240  
Producer’s Console (Order Code: 3154) ______ $  3.00 ___________

Button Cap, Lenses, and Label 15154 Kit (Order Code: 31069) ______ $40.00 ___________

Knob – Phones Level (black, push-on, 15 mm) (Order Code: 2056) ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Phones Level (black w/white line, 15 mm) (Order Code: 2057) ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Phones Level (Order Code: 2127) ______ $  5.00 ___________

DC Power Entry Jack Assembly (includes PCB, washer, and nut) (Order Code: 32135)  ______ $12.00 ___________ 
Note: Requires cable assembly, sold separately. See 13690.

Cable Assembly for DC Power Entry Jack Assembly (2-conductor, 5-inch) (Order Code: 13690) ______ $  4.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

Model 210 Security Plate (Order Code: SP-M210) ______ $15.00 ___________

Model 211 Security Plate (Order Code: SP-M211) ______ $15.00 ___________

Model 212 Security Plate (Order Code: SP-M212) ______ $15.00 ___________

Model 214 Security Plate (Order Code: SP-M214) ______ $15.00 ___________

Model 215 Security Plate (Order Code: SP-M215) ______ $15.00 ___________

Model 216 Security Plate (Order Code: SP-M216) ______ $15.00 ___________

Model 220 Security Plate (Order Code: SP-M220) ______ $18.00 ___________

Model 230 Security Plate (Order Code: SP-M230) ______ $18.00 ___________

Model 233 Security Plate (Order Code: SP-M233) ______ $18.00 ___________

Model 240 Security Plate (Order Code: SP-M240) ______ $18.00 ___________

24 Vdc, 0.75 A Power Supply (Order Code: PS-DC-03) ______ $46.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02) ______ $72.00 ___________

Models 205 & Model 206 Announcer’s Consoles (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Pushbutton Switch (momentary, xx mm x xx mm) (Order Code: 12101)  ______ $  5.00 ___________

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 16

Model 208 Announcer’s Console (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap (12 mm) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

3.5 mm Stereo Jack (Order Code: 1198) ______ $  3.00 ___________

Model 362 Listen-Only Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 17

Model 370 Intercom Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (dual-section) (Order Code: 32298) (for s/n 00151-02000) ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Push-Pot Potentiometer (single-section) (Order Code: 32299) (for s/n 02001-later) ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Trim Potentiometer (for sidetone) (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.

Plastic Shaft (gray, for sidetone trim pot) (Order Code: 14307) ______ $  3.00 ___________

Model 370A Intercom Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (dual-section) (Order Code: 32298) ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 18

Model 371 Intercom Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (single-section) (Order Code: 32299)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Trim Potentiometer (for sidetone) (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.

Plastic Shaft (gray, for sidetone trim pot) (Order Code: 14307) ______ $  3.00 ___________

Model 371A Intercom Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap – Talk (12 mm square) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Switch Cap – Call (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (dual-section) (Order Code: 32298) ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 19

Model 374 Intercom Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Trim Potentiometer (for sidetone) (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.

Plastic Shaft (gray, for sidetone trim pot) (Order Code: 14307) ______ $  3.00 ___________

Model 374A Intercom Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap (10 mm square) (Order Code: 14296)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 20

Model 380 On-Air Beltpack (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Switch Cap Adapter (Order Code: 14294)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14295 for 12 mm switch cap  
and 14296 for 10 mm switch cap.

Switch Cap (12 mm) (Order Code: 14295)  ______ $  1.50 ___________ 
Note: Switch cap and switch cap adapter are sold separately. See 14294 for switch cap adapter.

Push-Pot Potentiometer (dual-section) (Order Code: 32298) (for s/n 00151-01000) ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Push-Pot Potentiometer (single-section) (Order Code: 32299) (for s/n 01001-later) ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Model 391 Dante Alerting Unit (all Serial Numbers)

Pushbutton Switch – Mode (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $10.00 ___________

Trim Potentiometer (Order Code: 2119) ______ $  4.00 ___________ 
Note: Plastic shaft sold separately. See 14307.

Plastic Shaft (gray, for trim pot) (Order Code: 14307) ______ $  3.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 21

Model 400 SDI-Over-Fiber Transport Systems (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $    4.00 ___________ 
Digi-Key No.: EG1301-ND)

Display Assembly (Order Code: 31579) ______ $122.00 ___________

Display Lens (Order Code: 15203) ______ $    4.00 ___________

Model 410 SDI-Over-Fiber Transport Systems (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $    4.00 ___________ 
Digi-Key No.: EG1301-ND)

Display Assembly (Order Code: 31601) ______ $122.00 ___________

Display Lens (Order Code: 15203) ______ $    4.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $  10.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02) ______ $  72.00 ___________

Model 412 Fiber Transport Systems (all Serial Numbers)

Pushbutton Switch (momentary) (Order Code: 12055; Mfg No.: E-Switch 320E1-1BLK;  ______ $    4.00 ___________ 
Digi-Key No.: EG1301-ND)

Display Assembly (Order Code: 31601) ______ $122.00 ___________

Display Lens (Order Code: 15203) ______ $    4.00 ___________

Screw-On Bumper Kit (black, set of 4) (Order Code: 31064) ______ $  10.00 ___________

12 Vdc, 1.5 A Power Supply (Order Code: PS-DC-02) ______ $  72.00 ___________

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 22

Model 742 Audio Mixer (all Serial Numbers)

Knob – Inputs 1-8 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Inputs 1-8 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Inputs 1-4 (Order Code: 2145) ______ $  4.00 ___________

Potentiometer – Inputs 5-8 (Order Code: 2166) ______ $  4.00 ___________

Potentiometer – Master and Monitor (dual-shaft) (Order Code: 2167) ______ $12.00 ___________

Knob (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14253)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14255 for  
knob cap (top) and 14254 for knob (bottom).

Knob Cap (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14255)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for  
knob (top) and 14254 for knob (bottom).

Knob (Bottom) – Master and Monitor (black w/white line, 15 mm) (Order Code: 14254)  ______ $  4.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for  
knob (top) and 14255 for knob cap (top).

Model 742A Audio Mixer (all Serial Numbers)

4-Position DIP Switch (Order Code: 12071) ______ $  5.00 ___________

Knob – Inputs 1-8 (black, push-on, 15 mm) (Order Code: 2056)  ______ $  3.00 ___________ 
Note: Knob and knob cap are sold separately. See 2057 for knob cap.

Knob Cap – Inputs 1-8 (black w/white line, 15 mm) (Order Code: 2057)  ______ $  1.50 ___________ 
Note: Knob and knob cap are sold separately. See 2056 for knob.

Potentiometer – Inputs 1-4 (Order Code: 2145) ______ $  4.00 ___________

Potentiometer – Inputs 5-8 (Order Code: 2166) ______ $  4.00 ___________

Potentiometer – Master and Monitor (dual-shaft) (Order Code: 2167) ______ $12.00 ___________

Knob (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14253)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14255 for  
knob cap (top) and 14254 for knob (bottom).

Knob Cap (Top) – Master and Monitor (black w/white line, 11 mm) (Order Code: 14255)  ______ $  3.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for  
knob (top) and 14254 for knob (bottom).

Knob (Bottom) – Master and Monitor (black w/white line, 15 mm) (Order Code: 14254)  ______ $  4.00 ___________ 
Note: Knob (top), knob cap (top), and knob (bottom) are sold separately. See 14253 for  
knob (top) and 14255 for knob cap (top).

Model 5100-Series Broadcast Support Modules (all Serial Numbers)

Contact Factory as Required

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 23

Model 5202 Dante to Phones and Line Output Interface (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Model 5204 Dual Line Input to Dante Interface (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Model 5330 Flex-Use Dante Audio Interface (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Model 5401 Dante Master Clock (all Serial Numbers)

Contact Factory as Required

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 24

Model 5414 Mic/Line Input & Line Output Interface (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Push-Pot Potentiometer (dual-section) (Order Code: 32298)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Pushbutton Switch – Channel Select (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Model 5415 / MD-4 Mic/Line Input & Line Output Interface (all Serial Numbers)

Knob (black w/white line, 9 mm) (Order Code: 14287)  ______ $  3.00 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14297 for push-pot sleeve  
and 8210-1/8 for set screw.

Set Screw (Order Code: 8210-1/8)  ______ $  0.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
14297 for push-pot sleeve.

Push-Pot Sleeve (Order Code: 14297)  ______ $  1.50 ___________ 
Note: Knob, push-pot sleeve, and set screw are sold separately. See 14287 for knob and  
8210-1/8 for set screw.

Push-Pot Potentiometer (single-section) (Order Code: 32299)  ______ $  6.00 ___________ 
Note: Includes conductive tape (10 mm x 3 mm).

Pushbutton Switch – Channel Select (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap (gray) (Order Code: 14207) ______ $  3.00 ___________

1/4" Phone Jack (Order Code: 1084) ______ $  4.00 ___________ 
Note: Nut is required for installation of 1/4" phone jack. See 1090 for nut.

Nut (plastic) (Order Code: 1090) ______ $  1.50 ___________ 
Note: Nut is required for installation of 1/4" phone jack.

Model 5422-Series Dante Audio Intercom Engines (all Serial Numbers)

Contact Factory as Required

 Qty US List Total 
  Price



© 2018 Studio Technologies, Inc. Price List for Replacement Parts 50490-0318, Issue 6, Page 25

 Qty US List Total 
  Price
Live-Link Remote Camera Interface Systems (all Serial Numbers)

Recessed Bumper Kit (set of 4 each recessed bumpers, 6-32x1" screws, and 6-32  
nylock nuts) (Order Code: 32203) ______ $  12.00 ___________

Lifting Handle Kit (black lifting handle and set of 6 6-32x1/4" screws) (Order Code: 32204) ______ $  26.00 ___________

Portable Cover (Order Code: 31355) ______ $150.00 ___________ 
Note: Does not include battery bracket, handle, or hardware.

Anton-Bauer Battery Bracket Kit (battery bracket w/insulator and 15” cable assembly)  
(Order Code: 31414) ______ $115.00 ___________

12 Vdc, 5 A Power Supply (Order Code: PS-DC-01) ______ $  92.00 ___________

Audio Cable (XLR5M to XLR3F/XLR3M) (Order Code: 13662) ______ $  42.00 ___________

Rack-Ready Cover (Order Code: LL-COVER-02) ______ $150.00 ___________

Live-Link Jr. Remote Camera Interface Systems (all Serial Numbers)

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap – Truck End Auto Null (gray) (Order Code: 14207) ______ $    3.00 ___________

Recessed Bumper Kit (set of 4 each recessed bumpers and 6-32x3/8" screws)  
(Order Code: 32202) ______ $  12.00 ___________

Lifting Handle Kit (black lifting handle and set of 6 6-32x1/4" screws) (Order Code: 32204) ______ $  26.00 ___________

12 Vdc, 5 A Power Supply (Order Code: PS-DC-01) ______ $  92.00 ___________

Live-Link Mini Remote Camera Interface Systems (all Serial Numbers)

Pushbutton Switch – Auto Null (momentary) (Order Code: 12056) ______ $  4.00 ___________

Pushbutton Cap – Camera End and Truck End Auto Null (gray) (Order Code: 14207) ______ $    3.00 ___________

Recessed Bumper Kit (set of 4 each recessed bumpers and 6-32x5/8" screws)  
(Order Code: 32205) ______ $  12.00 ___________

Lifting Handle Kit (black lifting handle and set of 6 6-32x1/4" screws) (Order Code: 32204) ______ $  26.00 ___________

12 Vdc, 5 A Power Supply (Order Code: PS-DC-01) ______ $  92.00 ___________

Audio Cable (XLR5F to Dual XLR3M) (Order Code: 13684) ______ $  42.00 ___________


